1.MocTpouTte rpaduey dyHELMA In(8= tw - 1) = fin)

0 39,1 367 133 133 1
30 383 366 134 24.1 134
60 383 366 134 243 245
o0 383 3623 735 245 253
120 3 3623 136 246 263
150 383 363 136 243 269
120 3 36.4 133 351 76
210 3 363 340 352 284
240 383 363 24 354 289
270 3 363 24 357 93
300 383 363 244 353 30
330 3 363 244 359 304
360 383 36.1 244 30 07
300 3 363 246 %2 312
420 3 363 347 %4 313
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420 39,1 363 249 365 321
510 3 363 352 365 134
340 3 363 351 365 123
570 3 363 353 %2 330
600 39,1 36.1 355 770 73]
630 383 36.1 356 773 134
6601 383 363 357 773 136
600 390 363 357 174 137
720 383 36.1 353 174 340
750 383 36.1 359 76 342
780 383 363 %2 77 343
210 3 363 %2 77 347
240 3 3623 %4 77 343
270 3 363 363 779 35
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Temn oxnamneHWA kanopuMeTpoe: m=ilndl - InE20/(r2 - 71}

2154 - 194 1 24681 - 2 4248 1
my = my = 00016 = my=—————  my=000024 =
450 - 330 C 430 - 300 C
23970 — 22818 1
my= " my=00005 -
420 - 210 C
TemnepaTypa OTHECEHHA
by = 39 ty = 24
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MocTpoum pacnpegeneHle TEMNERATYPEl N0 CEMEHMK Kanopumetpa 1
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OnpegenaHie kKo3dPUUMEHTS TENNONROBOAHOCTM:

YA eNeHAA TEMNOEMEDCTE HCCnegyemMoro Matepdana

Cp =390 1= 0054 b4
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OI'IFIE,D,EHEHHE NArpellHacTH HaMepeHKna:

AK = KJ4.[%J + 4.(E]. i 5, n(88] '
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